THM3FEE 3—‘-& BRI _EESFFK
HERBZEREESRITRES
IR A8 1,065,569 M
XHEE 177,000 H
=58 888,569 M
ONOL (84 F)
Rt = FHEE REEE Z5|%8 @ %
I 1,075,559 1,065,559 A 10,000
oo 2 200,000 of 4 200000|FRRI EEAEER
& 0 0 0
HEF B 41 10 A 31
a 5t 1,275,600 1,065,569 A 210,031
X D FR (84 )
el = FHEE REEE =515 & %
YHEREEXE 750,000 177,000 573,000
RE ZERH B 400,000 177,000 223,000 (15 7€ ZERFBIR D 145N
AR—Y - AL EBNBA AL 200,000 0 200,000
BEFEBIK 150,000 0 150,000 BIEHEHHBE BE
2 B # 31,500 0 31,500
1y £ 781,500 177,000 604,500
B I £ 0 0 0
¥ ® E 494,100 0 494,100
=) 5 1,275,600 177,000 1,098,600




